e

tlo

B0 2 9 e AL Foet,

x 2 3HlE x o6& HT A B At

D x+3<x+6 @ x+3>x-6 ® 3x<x-6

@ 3x<x+6 ® 3x>x+6



1,

1A

o] 5]

A7

rr

@ 2x+1>4x-3

@ x+1>2



-2 <-2(x-1) <8 2 S5 T3l



4.  GARE f(x) ol skl y = 3x+2 0], f(x) =5 4 o x O] F2?

@ o @1 ® 2 @ 3 ® 4



5. x7F2, 4,6 84 W, He

@




7 A2 ] 5749 Fol 13 91 F A2l o] A5t ghek. A Aele]
579k A1) Apel o] S5 HHRE A& Sk 45 W o o @
w, A& 45 Totoier.

D R
=%



S

_
N

Njo

s
P
s
7o X
X —~
__o_u __o_n
P
= T
o
_ﬂ_, iy
M]M 5%
5 o)
ooy
- o]
=R
S 3
=
g
T
ol .Arg
»
NI X
™ o)
__O_l m_.w_

@ 5007
® 5209

® 5609
[e)

@D 480
@ 5403



314 17x>-2

—

A
>

4(1-2x) > 16



17 27 43
T @7 97

D -



10. o= 5 x@tol S7tetel wet ygkol Aot 1 mo] &
SE
]
@yZ—ZHs © y=2v-1
© y=3x @ y—-3x-4
® y=4x-4 ® y=-x-3

M

5



ol 18 300me £Eoz

ol
&
S

|

sholat.

A 7

Z.E ﬂL|

o BK

km



12. 5=7hs% o 2387 8% ) £FBE Ao 527 7% A £FE
600g & WA Tt 8% o £25E9] F& Fstofet

> EE g



13. 71&717k10]a, y Aol 1 ¢l LAkt 27t A (o, 3)= A€

w, a ] & Totoler.

=



14.

757wl MYl A = 712 80 B At
FHO 20% & GFo R et F47] ¢
o, A7 o= 2 dES 200 BF A ol
44718 Botof shert?

il

o}

o

=]
=

)
o

el

7

2

@ 179 @ 18t ® 19t @ 20th

2
il

St et

7
°] 30 7 <
™

]
427 g

® 214



15.

ARG y = f(x) 1A x 9 el F7Hgel h y o 3ol S/

H]7} —% ola, f(-1) =1L ), f(k) = -2 E {

2t Fafole

D R
=%



